SARMEOLA 2 REDENTORE 6
RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 4 5 SET PUNTI |PARTITE
Al X|A X X A XA XA X A X|A|X
A BELLUSSI X IBERTON 511|116 (11| 9 |7 |11, 6 (11| 2 | 3 |40/48| 0 | 1
B |[ESPOSITO Y |INALIN 9 | 1M1|11|5 |5 11| 7 |11 1]131(32(38|0 |1
DP|BELLUSSI-ATAYEBI DP|MERLIN-NALIN 9 /11|11 7|8 |11|12/10| 6 (11| 2 | 3 |[46|50| 0 | 1
C |ATAYEBI Z MERLIN 118 (11| 8 |[10[12 11| 7 3111433510
B |[ESPOSITO X BERTON 6 (11101211, 7 (11| 9|6 |11 2 | 3 [44|50| 0 | 1
A BELLUSSI Z MERLIN 1012, 6 |[11]| 5 [ 11 0 3/21/34|,0 | 1
C |ATAYEBI Y |INALIN 118 (12|10 8 |11 11| 3 3111423210
B |[ESPOSITO Z MERLIN 5111 8 |11 9 | 11 0 3|22/33,0 |1
C X 0|0
A Y 0|0
TOTALI| 13| 20 [290|320| 2 | 6




